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1848 1845 1840 1833 1824 1813 180D 1785 1768 1749 1728 1705 1680 1653 1624 1593 1560 1525 1488 1449 1408 1365 1320 1273 1224 1173 1120 1065 1008 949 888 815 760 693 624 553 480 405 328 249 168 85 IB4987 176 267 360 455 552 651

1935 1932 1927 1920 1911 1500 1887 1872 1855 1836 1815 1792 1767 1740 1711 1680 1647 1612 1575 1536 1495 1452 1407 1360 1311 1260 1207 1152 1095 1036975 912 847 780 TII 640 567 492 415 336 255 172 87 193689 IB0 273 368 465 564

Every Perfect Number has an EVEN AREA that combines with its Odd Complement AREA to equal the Square of its Mersenne Prime




